
MATHS

BOOKS - NCERT EXEMPLAR MATHS

(HINGLISH)

QUADRIATIC EQUATIONS

Quadratic Equations

1. Which of the following is a quadratic

equation?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fJgylBcAGhP3


A. 

B. 

C. , where 

D. 

Answer: D

Watch Video Solution

x
2 + 2x + 1 = (4 − x)2 + 3

−2x
2 = (5 − x)(2x − )

2

5

(k + 1)x2 + x = 7
3

2
k = − 1

x
3 − x

2 = (x − 1)3

2. Which of the following is not a quadratic

equation?

https://dl.doubtnut.com/l/_fJgylBcAGhP3
https://dl.doubtnut.com/l/_J41FTkl4Nuy6


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2(x − 1)2 = 4x
2 − 2x + 1

2x − x
2 = x

2 + 5

(√2x + √3)
2
= 3x

2 − 5x

(x
2 + 2x)

2
= x

4 + 3 + 4x
2

3. Which of the following equations has  as a

root?

2

https://dl.doubtnut.com/l/_J41FTkl4Nuy6
https://dl.doubtnut.com/l/_DalZu9W52jRN


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x
2 − 4x + 5 = 0

x
2 + 3x − 12 = 0

2x
2 − 7x + 6 = 0

3x
2 − 6x − 2 = 0

4. If  is a root of the equation 

 then find the value of k.

1

2

x
2 + kx − = 0,

5

4

https://dl.doubtnut.com/l/_DalZu9W52jRN
https://dl.doubtnut.com/l/_pTooafOVLvxd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2

−2

1

4

1

2

5. Which of the following equations has the

sum of its roots as 3?
 
 (b) x
2 + 3x − 5 = 0

https://dl.doubtnut.com/l/_pTooafOVLvxd
https://dl.doubtnut.com/l/_d7UXMmpTaFGW





(d) 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−x
2 + 3x + 3 = 0 √2x

2 − x − 1 = 0
3

√2

3x
2 − 3x − 3 = 0

2x
2 − 3x + 6 = 0

−x
2 + 3x − 3 = 0

√2x
2 − x + 1 = 0

3

√2

3x
2 − 3x + 3 = 0

https://dl.doubtnut.com/l/_d7UXMmpTaFGW


6. Value(s) of  for which the quadratic

equation  has equal roots

is/are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

k

2x
2 − kx + k = 0

0

4

8

0, 8

https://dl.doubtnut.com/l/_1e0xbJghywdw


7. Which constant must be added and

subtracted to solve the quadratic equation

 by the method of

completing the square?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

9x
2 + x − √2 = 0

3

4

1

8

1

64

1

4

9

64

https://dl.doubtnut.com/l/_tg28ApFiVs3V


8. What is the nature of roots of the quadratic

equation 

A. two distinct real roots

B. two equal real roots

C. no real roots

D. more than 2 real roots

Answer: C

Watch Video Solution

2x
2 − √5x + 1 = 0?

https://dl.doubtnut.com/l/_tg28ApFiVs3V
https://dl.doubtnut.com/l/_whNsJiCAJ7Xn


9. Which of the following equations has two

distinct real roots?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x
2 − 3√2x + = 0

9

4

x
2 + x − 5 = 0

x
2 + 3x + 2√2 = 0

5x
2 − 3x + 1 = 0

https://dl.doubtnut.com/l/_whNsJiCAJ7Xn
https://dl.doubtnut.com/l/_zleFVkcmKSji


10. Which of the following equations has no

real roots?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x
2 − 4x + 3√2 = 0

x
2 + 4x − 3√2 = 0

x
2 − 4x − 3√2 = 0

3x
2 + 4√3x + 4 = 0

https://dl.doubtnut.com/l/_wuRRzjkCslw7
https://dl.doubtnut.com/l/_yb0CBCGPMuxr


11. The roots of the equation

 are

A. four real roots

B. two real roots

C. no real roots

D. one real root

Answer: C

Watch Video Solution

(x
2 + 1)

2
− x

2 = 0

https://dl.doubtnut.com/l/_yb0CBCGPMuxr


12. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

Watch Video Solution

x
2 − 3x + 4 = 0

13. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

2x
2 + x − 1 = 0

https://dl.doubtnut.com/l/_paaXrAhAOYtZ
https://dl.doubtnut.com/l/_1MRejUnqsV3z


Watch Video Solution

14. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

Watch Video Solution

2x
2 − 6x + = 0

9

2

15. State whether the following quadratic

equations have two distinct real roots. Justicy

https://dl.doubtnut.com/l/_1MRejUnqsV3z
https://dl.doubtnut.com/l/_6hJHv1pcICks
https://dl.doubtnut.com/l/_dSECzXHnussN


your answer: 

Watch Video Solution

3x
2 − 4x + 1 = 0

16. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

Watch Video Solution

(x + 4)2 − 8x = 0

https://dl.doubtnut.com/l/_dSECzXHnussN
https://dl.doubtnut.com/l/_yYOmYzc5RHlm


17. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

Watch Video Solution

(x − √2)
2
− 2(x + 1) = 0

18. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

Watch Video Solution

√2x
2 − x + = 0

3

√2

1

√2

https://dl.doubtnut.com/l/_LpX8ERnf0UPW
https://dl.doubtnut.com/l/_QHI0K42jdOt6


19. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

Watch Video Solution

x(1 − x) − 2 = 0

20. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

(x − 1)(x + 2) + 2 = 0

https://dl.doubtnut.com/l/_QHI0K42jdOt6
https://dl.doubtnut.com/l/_E6lff9PfjCuN
https://dl.doubtnut.com/l/_kHbpYycektkk


Watch Video Solution

21. State whether the following quadratic

equations have two distinct real roots. Justicy

your answer: 

Watch Video Solution

(x + 1)(x − 2) + x = 0

22. Write whether the following statements

are true or false. Justify your answers. 

https://dl.doubtnut.com/l/_kHbpYycektkk
https://dl.doubtnut.com/l/_sGU8Z8LImzhu
https://dl.doubtnut.com/l/_BW0l1fiT1q0c


(i) Every quadratic equation has exactly one

root. 

(ii) Every quadratic equation has atleast one

real root. 

(ii) Every quadratic equation has atleast two

roots. 

(iv) Every quadratic equations atmost two

roots. 

(v) If he coefficient of  and the constnat

term of a quadratic equation have opposite

sigh, then the quadratic equation has real

roots. 

(vi) If the coefficient of  and the constant

x
2

x
2

https://dl.doubtnut.com/l/_BW0l1fiT1q0c


term have the same sign and if the coefficient

of  term is zero, then the quadratic equation

has no real roots.

Watch Video Solution

x

23. A quadratic equation with integral

coefficients has integral roots. Justify your

answer.

Watch Video Solution

https://dl.doubtnut.com/l/_BW0l1fiT1q0c
https://dl.doubtnut.com/l/_Prgj874jZChb


24. Does there exist a quadratic equation

whose coefficients are rational but both of its

roots are irrational? Justify you answer.

Watch Video Solution

25. Does there exist a quadratic equation

whose coefficients are all distinct irrationals

but both the roots are rationals? Why?

Watch Video Solution

https://dl.doubtnut.com/l/_TYkMmkN4YcEm
https://dl.doubtnut.com/l/_K4jFzrW3V4su
https://dl.doubtnut.com/l/_flYuYdBlFvNK


26. Is 0.2 a root of the equation ?

Justify your answer.

Watch Video Solution

x
2 − 0.4 = 0

27. If  then the roots of

 are numerically

A. equal

B. equal and opposite in sign

C. distinct

b = 0, c < 0,

x
2 + bx + c = 0

https://dl.doubtnut.com/l/_flYuYdBlFvNK
https://dl.doubtnut.com/l/_RL0AcXLX5vQd


D. no real roots

Answer: B

Watch Video Solution

28. Find the roots of the quadratic equations

by using the quadratic formula in each of the

following 

Watch Video Solution

2x
2 − 3x − 5 = 0

https://dl.doubtnut.com/l/_RL0AcXLX5vQd
https://dl.doubtnut.com/l/_c9Xr0dHbuWMr
https://dl.doubtnut.com/l/_N8s96AAPyLHV


29. Find the roots of the quadratic equations

by using the quadratic formula in each of the

following 

Watch Video Solution

5x
2 + 13x + 8 = 0

30. Find the roots of the quadratic equations

by using the quadratic formula in each of the

following 

Watch Video Solution

−3x
2 + 5x + 12 = 0

https://dl.doubtnut.com/l/_N8s96AAPyLHV
https://dl.doubtnut.com/l/_TbwppLQHiJJE


31. Find the roots of the quadratic equations

by using the quadratic formula in each of the

following 

Watch Video Solution

−x
2 + 7x − 10 = 0

32. Salve the following quadratic equations by

factorization method.
 x
2 + 2√2x − 6 = 0

√3x
2 + 10x = 7√3 = 0

https://dl.doubtnut.com/l/_TbwppLQHiJJE
https://dl.doubtnut.com/l/_6VQKN7FYjv8i
https://dl.doubtnut.com/l/_gFQMhslmXEpf


Watch Video Solution

33. . Find the roots of the following quadratic

equation :


Watch Video Solution

x
2 − 3√5x + 10 = 0

34. Find the roots of the quadratic equations

by using the quadratic formula in each of the

following 

x
2 − √11x + 1 = 0

1

2

https://dl.doubtnut.com/l/_gFQMhslmXEpf
https://dl.doubtnut.com/l/_Qnn6ahV4hwyv
https://dl.doubtnut.com/l/_fXx5oSHGRV3n


Watch Video Solution

35. Find the roots of the following quadratic

equations by the factorisation method. 

Watch Video Solution

2x
2 + x − 2 = 0

5

3

36. Find the roots of the following quadratic

equations by the factorisation method. 

Watch Video Solution

x
2 − x − = 0

2

5

3

5

https://dl.doubtnut.com/l/_fXx5oSHGRV3n
https://dl.doubtnut.com/l/_SESgA5fTkJki
https://dl.doubtnut.com/l/_hprOVACKFGm8


37. Find the roots of the following quadratic

equations by the factorisation method. 

Watch Video Solution

3√2x
2 − 5x − √2 = 0

38. Find the roots of the following quadratic

equations by the factorisation method. 

Watch Video Solution

3x
2 + 5√5x − 10 = 0

https://dl.doubtnut.com/l/_hprOVACKFGm8
https://dl.doubtnut.com/l/_iUMIB0265utK
https://dl.doubtnut.com/l/_uvWIS0tjfLls


39. Find the roots of the following quadratic

equations by the factorisation method. 

Watch Video Solution

21x
2 − 2x + = 0

1

21

40. Find whether the following equations have

real roots. If real roots exist, find them 

Watch Video Solution

8x
2 + 2x − 3 = 0

https://dl.doubtnut.com/l/_uvWIS0tjfLls
https://dl.doubtnut.com/l/_NqyvTGvwAfG7
https://dl.doubtnut.com/l/_4awKYKuwftpZ


41. Find whether the following equations have

real roots. If real roots exist, find them 

Watch Video Solution

−2x
2 + 3x + 2 = 0

42. Find whether the following equations have

real roots. If real roots exist, find them 

Watch Video Solution

5x
2 − 2x − 10 = 0

https://dl.doubtnut.com/l/_ihiY7gzL0FpI
https://dl.doubtnut.com/l/_gxABj4vTORsf
https://dl.doubtnut.com/l/_AafYhL8I1ZuE


43. Find whether the following equations have

real roots. If real roots exist, find them

Watch Video Solution

+ = 1, x ≠ , 5
1

2x − 3

1

x − 5

3

2

44. Find whether the following equations have

real roots. If real roots exist, find them

Watch Video Solution

x
2 + 5√5x − 70 = 0

https://dl.doubtnut.com/l/_AafYhL8I1ZuE
https://dl.doubtnut.com/l/_T3jrv23CPRAd
https://dl.doubtnut.com/l/_UwOO1bKjf5Hv


45. Find a natural number whose square

diminished by 84 is equal to thrice of 8 more

than the given number.

A. 10

B. 11

C. 12

D. 13

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UwOO1bKjf5Hv
https://dl.doubtnut.com/l/_L55JeVbvv7lb


46. A natural number, when increased by 12,

becomes equal to 160 times its reciprocal.
Find

the number.

A. 7

B. -7

C. -8

D. 8

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_L55JeVbvv7lb
https://dl.doubtnut.com/l/_pBTDUvhG8ka7


47. A train, travelling at a uniform speed for

360 km, would have taken 48 minutes less to

travel the same distance if its speed were 5

km/h more. Find the original speed of the

train.

Watch Video Solution

48. If Zeba were younger by 5 years than what

she really is, then the square of her age (in

years) would have been 11 more than five times

her actual age. What is her age now?

https://dl.doubtnut.com/l/_pBTDUvhG8ka7
https://dl.doubtnut.com/l/_1GRwvqBGic4A


A. 13 Yrs

B. 14 Yrs

C. 15 Yrs

D. 16 Yrs

Answer: B

Watch Video Solution

49. At present Asha's age (in years) is 2 more

than the square of her daughter Nisha's age.

When Nisha grows to her mother's present

https://dl.doubtnut.com/l/_1GRwvqBGic4A
https://dl.doubtnut.com/l/_2v3wTBO30TtO


age, Asha's age would be one year less than 10

times the present age of Nisha. Find the

present ages of both Asha and Nisha.

Watch Video Solution

50. In the centre of a rectangular lawn of

dimensioms  a rectangular pond

has to be constructed so that the area of the

grass surroundng the pond would be 

Find the length and breadth of the pond

Watch Video Solution

50m × 40m

1184m
2

https://dl.doubtnut.com/l/_2v3wTBO30TtO
https://dl.doubtnut.com/l/_9quHYq8ReOXg


51. At t minutes past 2 pm, the time needed by

the minutes hand of a clock to show 3pm was

found to be 3 minutes less than `(t^2)/4

minutes. Find t.

Watch Video Solution

https://dl.doubtnut.com/l/_9quHYq8ReOXg
https://dl.doubtnut.com/l/_y5vbhl5SvPfk

